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Question ID : 630680173089
Status : Answered
Chosen Option: D
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Question ID : 630680173075
Status : Answered
Chosen Option: B
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Question ID : 630680173050
Status : Answered
Chosen Option: B
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Question ID : 630680173080
Status : Answered
Chosen Option : B
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Ans X A TISe ST
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Question ID : 630680173109
Status : Answered
Chosen Option: D
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Ans o A TG
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& D. @5

Question ID : 630680173084
Status : Answered
Chosen Option : A
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X C. aft g werR SIra dt Tthar 3 ot |
o D. 7 3T sfdar T off|

Question ID : 630680173104
Status : Answered
Chosen Option: D
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Ans X A @Rrofig
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X C.fawa
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Question ID : 630680173100
Status : Not Answered
Chosen Option : --
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Question ID : 630680173049
Status : Answered
Chosen Option: B
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Question ID : 630680173122
Status : Answered
Chosen Option : A
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Question ID : 630680173063
Status : Answered
Chosen Option: C
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Question ID : 630680173054
Status : Not Answered
Chosen Option : --
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Question ID : 630680173081
Status : Answered
Chosen Option: C
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Question ID : 630680173115
Status : Answered
Chosen Option: D
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Question ID : 630680173064
Status : Answered
Chosen Option: D
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Question ID : 630680173097
Status : Answered
Chosen Option : A
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Question ID : 630680173118
Status : Answered
Chosen Option: C
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Question ID : 630680173092
Status : Answered
Chosen Option : B
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Question ID : 630680173079

Status : Answered

Chosen Option : A

Q.20

Ans
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Question ID : 630680173058

Status : Answered

Chosen Option : A

Q.21

Ans

Comprehension:

HIGeh &ed-Ta Y gl TR g QR 8] srsier e axg-fAmfor i i @ g<h mea 3 Teaar & e
% TTY Ueh § S¢ens Gen AT Fiol @IS off, IUehvor a7 forg, aegqu fAfefd o «fi| 3t o & hst: I5iA
HIGH &0 §& [FichTet Ya SHehT UANT eheT T fordn| TRa o Ureie et 7 ‘O’ S8R QR1' 216& ol Seid
39 914 ohT THTUT & foh Afeh-TiRIOIeh et YR ATeeh g @ uRRfEa & ofiR i sreeRi ur 3gaT
o e | STST &H ST HIGeh &8 Ya oh I1d ahed g df gHRT ST fonelt T TR o sraamegt
HTEh G T el gidi| SiTsT O 3 ATedh ged s folQ 1T & foienT Yo 7, Afeass, SRRt dfer
TOTTE OR ciYel U7 I heell & 37R TNTehd ehl Sidf=igd 0f<h ol ShHRT: R SdlT §] U Rd arfat
HIedh gl o Yo B @il ha 38 8, I8 M &1 S1id aTdg THwT st off gt 8| I8 = af foheft uap aar
6 T 8, 7 ek & ) §, foie oft S =0 & ag wRd & 393t ok 9t 8, g foheht Tfimr aa smanfaa wd
T 8| et o af gd ao (A 78 off o g & & Aree ga-da7 1 3 o 9, v 3T g7 W6 9
feheR Qe g ot o =afch ora: Areh ged da= @ R &t 6 ] fehg 317 ufgyeht 231 Bt Sr-edt et
feRerRi-garstt 7 +ff Ig Sed defl § thel 361 6| 3@ ! I1d Ig & foh fepaR-fReriRt gd gaen-gardt fasiy &4
@ 1! Tie & 377 3@ &| 59 JHW &l Faifdeh UHTd AgFTRI R U 6T 8|

SubQuestion No : 21
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Question ID : 630680173145

Status : Answered

Chosen Option : A




Q.22

Ans

Comprehension:
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Question ID : 630680173146

Status : Answered

Chosen Option : A

Q.23

Ans

Comprehension:

AIEH &eg-Had i Tgfl 89TRI a8 QR 8] ST Ud ag-fAmfor & 21fh @ geh #1ea A F93d1 & e
& T Ueh T dgons Geh I st @i off, Juenvor & forg, aequ fAfifa o «fi| 3it ohm & shmar: 38R
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HIeeh geg & gl gia| IToT Q¥ 3fFeh HIgeh ged ST foll 1T & ToieTent e A, Afrseh, ARIR e difient
JUTTelt OR cftel TTd IeU= aheell & 3fR TRINTehd chl Sidf-ifed 1f<h ol ShHeT: 8% atar | Ui oRa anfaat
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Question ID : 630680173144

Status : Answered

Chosen Option: B




Comprehension:

HTGeh Ged-9a i Ugl 9TRI ay YR | SIgEeT™ Gd aeg-Fmfor &t «1fth & goh A = F93ar & ey
& TTY Ueh T Fgens Gen IuAT Fiel @IS off, IUehvor a7 forg, aegqu fAfefa o «ff| 32t o & chmsr: I8
HISH & §& [MiahTel U SHehT UANT aheT T fordn| TRa o U= et 7 ‘e’ ofR ‘QRT 21 ot Seod
39 91d ohl UHTUT & foh afeh-giRifOres shielia YR AT g & uRfRg & 3R falw sraa=l ur 39t
e e | STST EH 19 HIGeh S8 Ua oh dTd ahed & df gHRT ST fonelt I TR & sraamegrit
Hieeh ged Q g1 gid| 3Tt QR 3eh HIgeh ged a1 oIy T4 & foieeht Qe 71, wiersep, R qe dfiehr
Tt TR e TTa Iaq= el & 3R TilTeRart i siafifga 1<k ot shAsr: 8 tar &| Ui wRa arfaat
HTedh gl o Yo & ol % 38 8, T8 M &1 S1ia vaTag TowT st off g1 8| a8 = af foneft yap aar
6 T 8, 7 Teh & Y §, foR oft g =0 & a8 wRd & 39t ok 9t 8, a8 foheht T aa smanfaa wd
T 8| et o af gd ao (A 78 oft foh g & & e ga-da7 8 3 o 9, 9 3T g7 W6 9
feheR Qe g &t o =afch ora: Areeh ged g & R 8t e ] fehg 317 ufgyeht 2= Bt dr-edt e
foRemRY-garett & off ag ared dsit & thet <6 8| g@ I a1 Tg & foh fohaiR-foha™l ud gaes-gadt fasiv ®u
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SubQuestion No : 24

Q.24 e A 311 & Sfia= i foha arsafaes au ot Ismar T 82

Ans

75 A, fopsiR-fensitfat ofR gaes-gafadi st wwarsdi

75 B. dféeh-URIiUIeh ShleflF IR H A1Geh geal o 9a- o TN W)
o C. IR GATST H HATGh gedl & Igd Ha hl WaTag T IR
25 D. ATEeh gl o ITE hl @iel TR

Question ID : 630680173143

Status : Answered

Chosen Option: C




Q.25

Ans

Comprehension:

HTGeh Ged-Ya i Ugl 9TRI a¥ YR ¢ SIgEeT™ Gd aeg-Fmfor &t a1k & goh A = 9e7ar & ey
% TTY Ueh T Sgens Gen IUATT Fiel @IS off, IUehvor a7 forg, aegu fAfefd o «ff| 3t o & chrsr: I8
HISH & §& [MiahTel Y SHehT UANT aheT Wi fordn| R o U= et 7 ‘e R ‘QRT’ 216 ot Ieci
3T 914 T THT10T § foh afeep-uRifOres shiehis R ATeeh geg & gRRAIT & ofR fAsiy sraeRl &R ITet
e e | STST §H 19 HIGeh &8 Ya eh 1 ahed & df gHRT ST fonelt I TR & sraamegrt
Hieeh ged Q g1 gid| 3Tt QR 3eh HIgeh ged a1 oIy T4 & foieeht Qe 71, wirsep, U8R qer dfiehr
TRt TR e TTa Iaq= el & SR TilTeRarl i siaf=ifga 1f<h ot shAsm: 8 tar &| U= wRa arfaat
HTeh gl o Yo & a1 ha 38 8, T8 My & S1eia waTag Towan st off g1 8| a8 = af foneft uap aar
6 T 8, 71 ek g Y §, foR oft g =0 & a8 wRd & 39t ok 9t 8, a8 foheht T aa smanfaa wd
Tt 8] et o af gd ao (A 78 off o g &€ & ATee ge-da7 1 3 o 9, 99 3T g7 W8 9
feheiR Qe gt &t o =afch ora: Areeh ged o= & R &t e ) fehg a7 ufgyeht 2=t B dr-edt et
foReTRi-garsit 7 +ff Ig Smed doft § el 361 8| 3@ ! I1d Ig & foh fepaiR-fRerRt ga gaen-gardt fasiv &9
T gl e H 1 3R | 3T THWIT T Faffdes UaTg HgRI IR US T 8

SubQuestion No : 25
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25 B. RA & AT Tt H G’ SR GRI' 21e& T Scisd 39 aTd Al THTUT § foh Afeeh-UiRTIOIeh ehrefiT
IR AT Ged & TR & SfR fAT S/aeRi ux IHh! Ta dhed 2| 31TST a1 GT U dhed g

< C. A1eeh g Sfad gid 8|7 H HTadh aedl dl a1 ufgiet <=1 o hRuT a¢ 8T &[ureh s o
IR H Shael UIRITOIch ST &1 HTGeh Gedl ol 9a ehed 9|

o D. T27aT & e o A1 ST SUART ag it Y e g3 at AIaeh & g6 aldl TTg| TR
URIfOTes Tt H geent Seora I feTaT | Aeeh aad & SIfAUTT GHTI R & SIaHIGgR! A1GH 5 9 4
Bl BT, AfEseh, RIR TT dfehT TUTTedt TR ot TR o 1f<h 814 §FT 3 aTel H1geh g 9 | I8 forsht
Teh 227 T TR g1 & foheg R H fheiR 7R gareif # gueht oit dsft & o1 &t 8] ufgyet =i 6t 3=
S, faRiy U TR H, TR JaT ST Sfenedy Ja- e @ g

Question ID : 630680173147
Status : Answered
Chosen Option : A

Section : English Language

Q.1

Ans

Select the most appropriate option to fill in the blanks.

My most interesting visitor comes at night, when the lights are still burning a tiny bat
who to fly in through the open door and will use the window only if thereisno ____.
His object in entering the house is to snap up the moths that around the lamps.

25 A. abhors; preference; hide
#< B. admires; success; dance
< C. hates; light; escape

« D. prefers; alternative; cluster

Question ID : 630680172972
Status : Not Answered
Chosen Option : --




Q.2 Select the most appropriate meaning of the given phrase.
Bid defiance

Ans X A. To make peace
«# B. To offer resistance
< C. To be confused
25 D. To be tongue-tied

Question ID : 630680172948
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate option to fill in the blank.
Neither of the two boys done it.

Ans X A. have

< B. were
25 C.have been
" D. has

Question ID : 630680173001
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate option to fill in the blanks.
The , hatural way to express anger is to respond aggressively. Anger is a natural,
_____ response to threats; it inspires powerful, often aggressive feelings and _____, which
allow us to fight and to defend ourselves when we are attacked.

Ans X A. unreasonable; phenomenal; positions
< B. extraordinary; seductive; statures
25 C. atypical; booming; emotions

«” D. instinctive; adaptive; behaviours

Question ID : 630680172983
Status : Not Answered
Chosen Option : --

Q.5 Select the proverb that means the following.
What you already have is better than what you might get.

Ans  # A Abirdin hand is worth two in the bush.
#5 B. Better safe than sorry.
< C. Don't count your chickens before they hatch.

< D. Beggars can't be choosers.

Question ID : 630680172953
Status : Not Answered
Chosen Option : --




Q.6 Select the most appropriate option to fill in the blank.
He her for 2 years next month.

Ans X A knew
< B. knows

" C. will have known
25 D. will know

Question ID : 630680173017
Status : Not Answered
Chosen Option : --

Q.7 Choose the sentence which has a spelling error.
Ans X A. Persons with oscillating nature never stick to one option.

#< B. The sight of cruelty to the animals was unbearable and nauseous.
+" C. He was ostrasized by the elders for not following the village laws.

#5 D. The President was indicted for perjury.

Question ID : 630680172960
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate option to fill in the blanks.
The crowd forward through the narrow streets of Paris. There was a of shutters
being closed hastily by hands-the citizens of Paris knew that once the fury of the
people was excited, there was no telling what they might do.

Ans X A.gushed; twitter; stabilised

75 B. flowed:; clutter; authoritative
7% C. outpoured; flutter; withering
" D. surged; clatter; trembling

Question ID : 630680172982
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate ANTONYM of the given word.
Ludicrous

Ans X A Ridiculous
" B. Solemn
#< C. Antic
#5 D. Farcical

Question ID : 630680172943
Status : Not Answered
Chosen Option : --




Q.10 Select the option that has a spelling error.
Ans X A. We malign others because we are jealous of them.

#5 B. Don't believe him because he is a knave and scoundrel.
«# C. Guvenile delinquency is on the increase these days.

< D. Everybody condemned her ludicrous remarks against her friends.

Question ID : 630680172958
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate articles to fill in the blanks. In case no article is needed, select

'No article required'.
old should be respected by

Ans X A. No article required, the

young.

25 B. The, no article required
25 C. No article required, no article required

" D.The, the

Question ID : 630680173005
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate synonym of the given word.
Ostentation

Ans X A. Diffidence
«” B. Pretension
#< C.Reservation
#< D. Concealment

Question ID : 630680172946
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate option to fill in the blank.
He a bright blue car.

Ans o A owns
25 B.own

2 C.is owning

#< D. was owned

Question ID : 630680173012
Status : Not Answered
Chosen Option : --




Q.14 The following extract has an error in syntax/structure. Choose the option that gives the
correct alternative.
While some employers are making flexible work more available, there is still a high
prevalence of bolted-on temporary arrangements. These arrangements are seen as the
exception to the rule, with the full-time, ‘face-time’, long hours, ideal worker still the model
to which everyone is expected to have been adhering.

Ans X A there is still a highly prevalent of bolted-on temporary arrangements.
25 B. While some employers are being made flexible work more available
«" C. still the model to which everyone is expected to adhere

#< D. These arrangements are been seeing as the exception to the rule, with the full-time,
‘face-time’, long hours, ideal worker

Question ID : 630680172964
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate article to fill in the blank. In case no article is needed, select 'No
article required'.
What hot day!

Ans X A. No article required
" B.a
5 C.the
2 D.an

Question ID : 630680173009
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate option to fill in the blank.
She slept last night.

Ans X A. soundful

5 B. soundless
< C. sound
" D. soundly

Question ID : 630680172999
Status : Not Answered
Chosen Option : --




Q.17 The following extract has an error in syntax/structure. Choose the option that gives the
correct alternative.
One of the easiest ways to establish a savings habit is to participate in your employer’s 401
(k) plan. Funds are withheld from each paycheck and deposited into your account. If your
employer matches part of your contribution — and many do! - it will accumulate yet more. A
second way into consistently being saved was with an automatic savings transfer
programme with your financial institution.

Ans  * A. A second way to consistently save is with an automatic savings transfer programme
with your financial institution.

#5 B. One of the easiest ways to establish a savings habit is to participate in your
employer’s 401 (k) plan.

#5 C. Funds are withheld from each paycheck and deposited into your account.

25 D. If your employer matches part of your contribution — and many do! — it will
accumulate yet more.

Question ID : 630680172971
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate option to fill in the blanks.
The is trying to woo the voters belonging to the minority by
party in power.

them from the

Ans X A. adjudicator; yearning
" B. opposition; weaning
#5 C. opponent; yawning

#5 D. advocate; owning

Question ID : 630680172988
Status : Not Answered
Chosen Option : --

Q.19 The following extract has error in syntax/structure. Choose the option that gives the correct
alternative.
Animal of all sorts live together in various ecosystems. Within these natural communities,
the animals eat specific diets that connect them together in a food chain. The three diets of
animals include creatures that are eating only plants, those are eating only meat, and
animals that are eating both plants and meat. Animals that eat plants exclusively are
herbivores, and animals that eat only meat are carnivores.

Ans X A. Animal of all sorts are being lived together in various ecosystems.
« B. The three diets of animals include creatures that eat only plants, those that eat only
meat, and animals that eat both plants and meat.

25 C. Within these natural communities, the animals are eating specific diets that is
connecting them together in a food chain.

25 D. Animals that are eating plants exclusively are herbivores, and animals that are eating
only meat are carnivores.

Question ID : 630680172967
Status : Not Answered
Chosen Option : --




Q.20 Select the most appropriate option to fill in the blanks.
This novel deals with the sight of .

Ans o A. macabre; carnage
< B. gruesome; orchards
< C. evil; teetotallers

#< D. pleasant; imposters

Question ID : 630680172993
Status : Not Answered
Chosen Option : --

Comprehension:

Read the given passage and answer the questions that follow.

The northern lights are an atmospheric phenomenon that's regarded as the Holy Grail of
skywatching. The northern lights, or the aurora borealis, are beautiful dancing waves of light
that have captivated people for millennia. But for all its beauty, this spectacular light show is a
rather violent event.

Energised particles from the sun slam into Earth's upper atmosphere at speeds of up to 45
million mph (72 million kph), but our planet's magnetic field protects us from the onslaught.
As Earth's magnetic field redirects the particles towards the poles, there are southern lights
too; the dramatic process transforms into a cinematic atmospheric phenomenon that dazzles
and fascinates scientists and skywatchers alike.

Though it was an Italian astronomer Galileo Galilei who coined the name ‘aurora borealis’ in
1619-after the Roman goddess of dawn, Aurora, and the Greek god of the north wind, Boreas-
the earliest suspected record of the northern lights is in a 30,000-year-old cave painting in
France.

Since that time, civilisations around the world have marvelled at the celestial phenomenon,
ascribing all sorts of origin myths to the dancing lights. One North American Inuit legend
suggests that the northern lights are spirits playing ball with a walrus head, while the Vikings
thought the phenomenon was light reflecting off the armour of the Valkyrie, the supernatural
maidens who brought warriors into the afterlife.

Early astronomers also mentioned the northern lights in their records. A royal astronomer
under Babylon's King Nebuchadnezzar Il inscribed his report of the phenomenon on a tablet
dated 567 BC, for example, while a Chinese report from 193 BC also notes the aurora,
according to NASA.

The science behind the northern lights wasn't theorised until the turn of the 20th century.
Norwegian scientist Kristian Birkeland proposed that electrons emitted from sunspots
produced atmospheric lights after being guided towards the poles by Earth's magnetic field.
The theory would eventually prove correct but not until long after Birkeland's death in 1917.

SubQuestion No : 21
Q.21 Choose the most appropriate central theme of the passage from the options given below.
Ans X A.The northern lights and the southern lights

25 B. Kristian Birkeland's discovery
«# C. Various facets of the northern lights

25 D. Mythology related to the northern lights

Question ID : 630680173021
Status : Not Answered
Chosen Option : --




Q.22

Ans

Comprehension:

Read the given passage and answer the questions that follow.

The northern lights are an atmospheric phenomenon that's regarded as the Holy Grail of
skywatching. The northern lights, or the aurora borealis, are beautiful dancing waves of light
that have captivated people for millennia. But for all its beauty, this spectacular light show is a
rather violent event.

Energised particles from the sun slam into Earth's upper atmosphere at speeds of up to 45
million mph (72 million kph), but our planet's magnetic field protects us from the onslaught.
As Earth's magnetic field redirects the particles towards the poles, there are southern lights
too; the dramatic process transforms into a cinematic atmospheric phenomenon that dazzles
and fascinates scientists and skywatchers alike.

Though it was an Italian astronomer Galileo Galilei who coined the name ‘aurora borealis’ in
1619-after the Roman goddess of dawn, Aurora, and the Greek god of the north wind, Boreas-
the earliest suspected record of the northern lights is in a 30,000-year-old cave painting in
France.

Since that time, civilisations around the world have marvelled at the celestial phenomenon,
ascribing all sorts of origin myths to the dancing lights. One North American Inuit legend
suggests that the northern lights are spirits playing ball with a walrus head, while the Vikings
thought the phenomenon was light reflecting off the armour of the Valkyrie, the supernatural
maidens who brought warriors into the afterlife.

Early astronomers also mentioned the northern lights in their records. A royal astronomer
under Babylon's King Nebuchadnezzar Il inscribed his report of the phenomenon on a tablet
dated 567 BC, for example, while a Chinese report from 193 BC also notes the aurora,
according to NASA.

The science behind the northern lights wasn't theorised until the turn of the 20th century.
Norwegian scientist Kristian Birkeland proposed that electrons emitted from sunspots
produced atmospheric lights after being guided towards the poles by Earth's magnetic field.
The theory would eventually prove correct but not until long after Birkeland's death in 1917.

SubQuestion No : 22

Which is the earliest record of the northern lights as per the information given in the
passage?

" A. A cave painting in France
7% B. Kristian's Birkeland's proposal
75 C. A'North American Inuit legend

25 D. Galileo Galilei's discovery

Question ID : 630680173022

Status : Not Answered

Chosen Option : --




Q.23
Ans

Comprehension:

Read the given passage and answer the questions that follow.

The northern lights are an atmospheric phenomenon that's regarded as the Holy Grail of
skywatching. The northern lights, or the aurora borealis, are beautiful dancing waves of light
that have captivated people for millennia. But for all its beauty, this spectacular light show is a
rather violent event.

Energised particles from the sun slam into Earth's upper atmosphere at speeds of up to 45
million mph (72 million kph), but our planet's magnetic field protects us from the onslaught.
As Earth's magnetic field redirects the particles towards the poles, there are southern lights
too; the dramatic process transforms into a cinematic atmospheric phenomenon that dazzles
and fascinates scientists and skywatchers alike.

Though it was an Italian astronomer Galileo Galilei who coined the name ‘aurora borealis’ in
1619-after the Roman goddess of dawn, Aurora, and the Greek god of the north wind, Boreas-
the earliest suspected record of the northern lights is in a 30,000-year-old cave painting in
France.

Since that time, civilisations around the world have marvelled at the celestial phenomenon,
ascribing all sorts of origin myths to the dancing lights. One North American Inuit legend
suggests that the northern lights are spirits playing ball with a walrus head, while the Vikings
thought the phenomenon was light reflecting off the armour of the Valkyrie, the supernatural
maidens who brought warriors into the afterlife.

Early astronomers also mentioned the northern lights in their records. A royal astronomer
under Babylon's King Nebuchadnezzar Il inscribed his report of the phenomenon on a tablet
dated 567 BC, for example, while a Chinese report from 193 BC also notes the aurora,
according to NASA.

The science behind the northern lights wasn't theorised until the turn of the 20th century.
Norwegian scientist Kristian Birkeland proposed that electrons emitted from sunspots
produced atmospheric lights after being guided towards the poles by Earth's magnetic field.
The theory would eventually prove correct but not until long after Birkeland's death in 1917.

SubQuestion No : 23
Choose the correct summary of the passage from the options given below.

" A. The passage highlights the scientific process involved in the phenomenon of the
northern lights. It traces the way that the alternate name of the phenomenon came into being.
The passage furtherthrows light on the earliest records of the northern lights as well as the
myths, legends and scientifictheories associated with it.

/< B. The passage discusses in length about the way that the nomenclature of northern
lights was decided upon. It traces mythology, legends, the period of various rulers and recent
day scientists to arrive at this fact. The passage further throws light on the way that Galileo
decided to name the northern lights ‘aurora borealis’ because of pressure from the Greeks.

< C. The passage explains the myths and legends related to the phenomenon of the
northern lights. It highlights the contribution of NASA in ascribing the origin myth of this
amazing celestial phenomenon, which was later carried forward by North American scientists
who created various myths and legends to prove their perspectives.

25 D. The passage explains how Galileo was the first scientist to present the theory behind
the phenomenon of the northern lights, which until then was shrouded in mystery and given a

mythological base. The great scientist's theory was refuted during his lifetime but was
eventually accepted posthumously.

Question ID : 630680173023

Status : Not Answered

Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

The northern lights are an atmospheric phenomenon that's regarded as the Holy Grail of
skywatching. The northern lights, or the aurora borealis, are beautiful dancing waves of light
that have captivated people for millennia. But for all its beauty, this spectacular light show is a
rather violent event.

Energised particles from the sun slam into Earth's upper atmosphere at speeds of up to 45
million mph (72 million kph), but our planet's magnetic field protects us from the onslaught.
As Earth's magnetic field redirects the particles towards the poles, there are southern lights
too; the dramatic process transforms into a cinematic atmospheric phenomenon that dazzles
and fascinates scientists and skywatchers alike.

Though it was an Italian astronomer Galileo Galilei who coined the name ‘aurora borealis’ in
1619-after the Roman goddess of dawn, Aurora, and the Greek god of the north wind, Boreas-
the earliest suspected record of the northern lights is in a 30,000-year-old cave painting in
France.

Since that time, civilisations around the world have marvelled at the celestial phenomenon,
ascribing all sorts of origin myths to the dancing lights. One North American Inuit legend
suggests that the northern lights are spirits playing ball with a walrus head, while the Vikings
thought the phenomenon was light reflecting off the armour of the Valkyrie, the supernatural
maidens who brought warriors into the afterlife.

Early astronomers also mentioned the northern lights in their records. A royal astronomer
under Babylon's King Nebuchadnezzar Il inscribed his report of the phenomenon on a tablet
dated 567 BC, for example, while a Chinese report from 193 BC also notes the aurora,
according to NASA.

The science behind the northern lights wasn't theorised until the turn of the 20th century.
Norwegian scientist Kristian Birkeland proposed that electrons emitted from sunspots
produced atmospheric lights after being guided towards the poles by Earth's magnetic field.
The theory would eventually prove correct but not until long after Birkeland's death in 1917.

SubQuestion No : 24

Q.24 Which word in the passage means ‘brightness that blinds someone temporarily’?

Ans

25 A. Fascinates
#< B. Transforms
" C. Dazzles
#< D. Inscribed

Question ID : 630680173025

Status : Not Answered

Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

The northern lights are an atmospheric phenomenon that's regarded as the Holy Grail of
skywatching. The northern lights, or the aurora borealis, are beautiful dancing waves of light
that have captivated people for millennia. But for all its beauty, this spectacular light show is a
rather violent event.

Energised particles from the sun slam into Earth's upper atmosphere at speeds of up to 45
million mph (72 million kph), but our planet's magnetic field protects us from the onslaught.
As Earth's magnetic field redirects the particles towards the poles, there are southern lights
too; the dramatic process transforms into a cinematic atmospheric phenomenon that dazzles
and fascinates scientists and skywatchers alike.

Though it was an Italian astronomer Galileo Galilei who coined the name ‘aurora borealis’ in
1619-after the Roman goddess of dawn, Aurora, and the Greek god of the north wind, Boreas-
the earliest suspected record of the northern lights is in a 30,000-year-old cave painting in
France.

Since that time, civilisations around the world have marvelled at the celestial phenomenon,
ascribing all sorts of origin myths to the dancing lights. One North American Inuit legend
suggests that the northern lights are spirits playing ball with a walrus head, while the Vikings
thought the phenomenon was light reflecting off the armour of the Valkyrie, the supernatural
maidens who brought warriors into the afterlife.

Early astronomers also mentioned the northern lights in their records. A royal astronomer
under Babylon's King Nebuchadnezzar Il inscribed his report of the phenomenon on a tablet
dated 567 BC, for example, while a Chinese report from 193 BC also notes the aurora,
according to NASA.

The science behind the northern lights wasn't theorised until the turn of the 20th century.
Norwegian scientist Kristian Birkeland proposed that electrons emitted from sunspots
produced atmospheric lights after being guided towards the poles by Earth's magnetic field.
The theory would eventually prove correct but not until long after Birkeland's death in 1917.

SubQuestion No : 25

Q.25 Which of the following options gives an accurate idea of the fact that the phenomenon of
the northern lights was recorded in ancient human history?

Ans X A.Reports showcasing the phenomenon as a violent event
«” B. Reports from astronomers in the pre-Christian era
#< C. Reports given by Galileo Galilei

75 D. Reports from a Norwegian scientist

Question ID : 630680173024
Status : Not Answered
Chosen Option : --

Q.1 e d@=A1ea RIS Sfichel & SIFaR ayf 2021-22 § wrufie & S=aar Arafien e d amrr
foraft rsforat et aTf@e gam um?

Ans X A 1829 &g
o B.12.29 a5
2 C.19.29 Fds
X D.16.29 e

Question ID : 630680173258
Status : Not Answered
Chosen Option : --




Q.2 S 2023 e il AHER AR, &1 &7 A T anf & dga ueael fagft Adar (FpI) &
i = g2

Ans X A.51%
2 B.80%
o C.74%
X D. 49%

Question ID : 630680173298
Status : Not Answered
Chosen Option : --

Q.3 ufaa agr o, Sgiv ufea Waier & Ty ywor forar an, Aafaf@a d @ g g da & fog
S S 87

Ans X A TR
o B. s
& C.@ig
< D. 9T

Question ID : 630680173288
Status : Answered
Chosen Option: C

Q.4 af 2022 #, sgemandt At geaeric (MPI), St @G+ AL ferenr wrfsA (UNDP) 3iRR Sifeahis
fryfenera & sifeqwis uitadl de g Saeude s+ifgfea (OPHI) ZrRT Wy &u & S farar
T o, # et T g foh WRe # g & geast samer e gl

Ans X A. 1289 fafeme
«” B. 228.9 ffoms
X C. 3289 fafeas
< D. 428.9 fafer=

Question ID : 630680173319
Status : Not Answered
Chosen Option : --

Q.5 SEa 2023 dch Fl AHERI & AHIHR, 31T 31 Juige it & fha= Iwa a91 9eg &2
Ans X A.20

X< B.21

« C.13

X D.16

Question ID : 630680173342
Status : Not Answered
Chosen Option : --




Q.6 AR sch IR TIFARIT F3hREFR Us Sqarude fae Frafaf@a 7 @ fore adf & uifka farar

T U1?
Ans X A 2022

7< B.2020
o C. 2021
2 D.2019

Question ID : 630680173302
Status : Not Answered
Chosen Option : --

Q.7 =% 19(2), F=fafEa & | frw wifeer siffeR w g ufady wmar 8?
Ans X A. fa1 gfOaRY & ofik 9o &Y wdTar
X B. &S oft gfcq s Y Trdarar

«# C. dTch- Wil
7< D. aifreafs @dmar

Question ID : 630680173336
Status : Not Answered
Chosen Option : --

Q.8 .. AepeR A gduyw ffaf@a § & fra Ry ardt wsaar wre it gard 6 ofi?

Ans X A. el
7< B. gTae!
< C. e

" D. ogas!

Question ID : 630680173282
Status : Not Answered
Chosen Option : --

Q.9 gt &1 geaAT R 82

Ans X A.8.97x10%kg
o B.5.97x10%* kg
< C.6.97 x10%* kg
X D.7.97 x 10%* kg

Question ID : 630680173335
Status : Not Answered
Chosen Option : --




Q.10 fFr=fafea & @ fora aef & gr & kemg 3 e areang gaRd i T ut ?
Ans o A 1539
< B.1538
< C. 1540
< D.1537

Question ID : 630680173269
Status : Answered
Chosen Option : A

Q.11 ="l e qrea wu & F=faf@a 7 @ fone g daar i sfra mran i gafar 82
Ans X A fasg

& B.IH

o C.qwm

K D. R8s

Question ID : 630680173284
Status : Not Answered
Chosen Option : --

Q.12 e 2022 deh & AFHRT & THR, I= AT & AT Y wiga dear fra-i &2
Ans X A. 1105

< B.1107

& C.1108

X D.1106

Question ID : 630680173347
Status : Not Answered
Chosen Option : --

Q.13 3refl AR 3T, @ M yar A difiaeg forar an, &) fR=faf@a J @ fora anshta araes/miaer
2 7T 9r?

Ans X A 3@ 9RGNT
& B. 3T gaTTet
X C.srgrdfea
25 D. foRem s

Question ID : 630680173295
Status : Not Answered
Chosen Option : --




Q.14 SeRt 2023 & #gA A, Hatsa amared 3 Iwerds | Fefoaf@a 4 @ e ma fr ed yfa @
3ifaeroT g™ & foIT ITRIES ST UTATer & SMTRRT WR eh o7 &1?

Ans X A anfigR
 B. 5l
X C.utt
X D.&Rer

Question ID : 630680173263
Status : Not Answered
Chosen Option : --

Q.15 HERIUR U=ATY] FeAf ufaisrn Rafaf@a § @ fora aoa § [Ra 82
Ans X A T U

X B. gRamn

o C. T5Rid

25 D. ISIH

Question ID : 630680173323
Status : Answered
Chosen Option: C

Q.16 Ef3a iR siuReA fAfie it =g Mfeer ot gr1 1930 # yrRa & A=faf@ad @ fra
T s § i 7 off?

Ans X A dciTET
75 B. IwRE@E
" C. TREs
/< D. siae

Question ID : 630680173309
Status : Not Answered
Chosen Option : --

Q.17 SiTeRt 2023 deh Sl STHGRT R, ¥R & Arfafad d @ forg g | iR iy srefa
< Tzt ifdehan 82

Ans o A SfifSan
< B. 3 9H
X C. FAfew

25 D. TSI

Question ID : 630680173252
Status : Not Answered
Chosen Option : --




Q.18 Hi 3k w1 FA=fafaa A 3 forg 99 9 gdfda &2
Ans X A TiRthr

#< B. smyiarer
< C.wfder
o D. AT

Question ID : 630680173324
Status : Not Answered
Chosen Option : --

Q.19 af 2022 #, famr= iz vienfh w:h =f. s Rie A & ofv sish areaw & smuifSa CSIR Hr
I TR Y A1 TETesRar ufaaifar & forg fhaa et ot 21 @ &1 yer R
v fRar?

Ans X A Ufg
< B.®8
#5 C. @R
o D.

Question ID : 630680173248
Status : Not Answered
Chosen Option : --

Q.20 1905 # smTet o favrer frfaf@a 7 @ fora fifesr aroerm grr forar mam ar?
Ans X A @ dde

< B. g aar

X C. e fomfremm

« D. TTS choia

Question ID : 630680173277
Status : Answered
Chosen Option: D

Q.21 urey AR (plant anatomy) &, ‘3720 (carpel)’ @ fohd wu & aRenfYe favar mar &2
Ans X A RYSHA T

< B. =UiaRd @

& C. ATT USTH 3T

< D. =Uidid 578

Question ID : 630680173328
Status : Answered
Chosen Option: C




Q.22 atf 2022 #, 2 dah & AR FR2rE Had gRT YR TR H gRaE o, ik agaaml sk
gRa fa el | fAsft &=t & fRder &1 @17 IaTes Rt or @ urest 8q gurt o aad= ot
& forg fora=n fareprar -fifer o1 (DPL) wefiepa foram mmam ar?

Ans X A $450 fafera=
& B. $750 fafea=
< C. $550 fafea=
#< D. $650 fAferas

Question ID : 630680173306
Status : Not Answered
Chosen Option : --

Q.23 At efker thi 22 wifide (NAFTA) & dgd, WRa Fafaf@da 7 9 fora 321 & 91y wRa &
feuefta samaR 78 a1 8?

Ans X A Ggw 0 SR
#< B. &ATST
o C. &
< D. Aferyent

Question ID : 630680173273
Status : Not Answered
Chosen Option : --

Q.24 fF=fafea d | ford fohdhez A siivient & fRAeTE 2023 6 ugeft oo sj@en # wrRa 6 7201 &=
T Aqea foram?

Ans X A fgd ATy At
/< B. faRre shigeit
o C. E1féeh uisan
#< D. &.qe1. ger

Question ID : 630680173264
Status : Answered
Chosen Option: C

Q.25 WRA & WRd HEH A7 fRA9rT (IMD) & rgaR, WRa & Amfaf@e el # 9 forg e # 2022
H Iwad araHTH gt fohar mam ur?

Ans X A. oftOret

/< B. AR
< C. I3THa
& D. ot TR

Question ID : 630680173314
Status : Answered
Chosen Option: D

Section : General Intelligence




Q.1 e ampfaat & wE & UE goe H AET W HH 3T AR T FES w wea d R gaiE g
T TC FOTA F Fre W 98 Sar e

1
| —

|
>

Ans

<

X B.

<
> <D 4V VD D

x C.

<

o D.

> Ll <A A >
<>

Question ID : 630680176465
Status : Answered
Chosen Option : D

Q.2 %Eﬂg_ﬁﬁﬁﬁﬁmmwmﬁﬁwsﬁﬁmﬁﬁa&iumﬁmaﬁﬁ(?)ﬁuﬁmﬁﬁm
[T Bl
DF,I,M,R,?

Ans A X
X8 Z
xXcy
X0 W

Question ID : 630680176413
Status : Answered
Chosen Option : A




Q.3 FRT A 3T FAN FIA T OF Al A F, "#Y R Fr sweldr T H T SR T F AT E
Afgerm @ ¥ 5w 9w GatT &2

Ans XA- 3:|T3ﬂ'
XB H7T
¢ \/E
Ko SgA

Question ID : 630680173418
Status : Answered
Chosen Option: C

Q4 =7 79 & 9 T T e 3T 39 a5 & T A ok AN, IER FEl F I N FEA/AAE
%mw?mﬁmm%l (mmaﬁmﬁrawﬁmwmgc ) TEr T &

As A QL=%Ax++Q
XBQ++A%=LQ
XCML=%A=+*+M
XKOM=++ A%=LM

Question ID : 630680176430
Status : Answered
Chosen Option : A

VAT U FT T A9 AT ST
27 x5+ 270 -170 + 40 = ?

Ans X A 2?0
X B. 267
xXc 283
¥ D 275

Question ID : 630680176478
Status : Answered
Chosen Option: D




Q.6

Ans

e

n?g@ma#@aﬁwag

« C.

% D.

<

<>

Snpo<dE 4o O
>

Ul
OB > | o <>ridﬁﬁ

a@ﬁm}ﬁm#waﬁaﬁmﬁwwsﬁ?m@mm#m#ﬁﬁ}aﬁéﬂ%%l

Question ID : 630680176467
Status : Answered
Chosen Option: C




E

M x D & 3T & "M, D & far g
M- D &r 32T & "M, D &1 a1 "
M =D & 5y & "M, D & &er &"
ngmrm‘r%“M,D%rag;r%“
KxC-E/Q=J%#
K &l E & &1 @94 87

Ans xA‘aa_
X B FaT

3
D Al

Question ID : 630680176438
Status : Answered
Chosen Option : D

Q.8 =fy e 'HIJACKERS' ﬁq@a:maﬁrmawmﬁm“mmm?mﬁmm%

AT glF e F S FuiagEa F 3Es qEEdt e ¥ ag R o 3| Etaied # @ A
HER AT T =T geme

Ans 5 A rd
V& B
xc |
XD J

Question ID : 630680176419
Status : Answered
Chosen Option: B




Q9 Ru 7T Rt F ¥ 3T HFT F TS FY A FARGET @ F geAa=w FEa () #7 aenia

F T &
Ans
xa _;_;>
0]
w %
X

Question ID : 630680173439

Status : Answered

Chosen Option: C

Q.10 = frR=a e o &, “ABROAD” 1 ‘CDTQCF” @ =1er §1 3% &1 & “TABARD” = & forar
FATTT?

Ans X A FTCDVC
« 8 UBCBSE
« ¢ VCDCTF
X< 0. VCDTFC

Question ID : 630680176424

Status : Answered

Chosen Option: C




Q11 o7 =R w o1 § #5 § 3k 5 &1 37 wfegy 1 swe, o= §1 AR HEEw ¥ ogm, e F 3
ZT 9519 F T 7w ¥ &% a0 95tE # ¥ 7w, Al & &% a7 958 & dar 2| AN, Heaed ¥ &
¢ 9= F ¥ O F &k g0 95 & Hia dar 27

A v a ToTER
xe 8

<coJer

a5

Question ID : 630680173366
Status : Answered
Chosen Option : A

Q12 =7 faweT & 92 FY 1 I g F S TR T ¥ AW G qeE g eg W WA &

NEAR : EARN :: GOAL : ?

Ans KA AOGL
« B QALG
<X C OAGL
XD AOLG
Question ID : 630680173423
Status : Answered
Chosen Option: B

Q13 K #r 31 A & 2 &1 10 T g, K #F ¥ A & 7 T o) 3 adHe g Reae-fear €2
Ans o a 19, 24

X8 11, 24

xc. 20, 24

v D 12, 24

Question ID : 630680176408
Status : Answered
Chosen Option: D

Q.14 ﬁ'@mg_ﬁﬁﬁﬁ#mﬁmﬂmﬁﬁﬁﬁﬁmﬁ@ﬁ&i@mﬁmﬂﬁ?ﬂ(?)ﬂﬁﬁﬁﬂm
Hehar
2,12, 22, 32, 42, ?

Ans XA 43
X B 62
¥ C B2
XD 50

Question ID : 630680176472
Status : Answered
Chosen Option: C




Q.15 5z 5 km 2T &r 3T TemT §, BT @ gear §1 3 km T F AF 3¢ 9% HR F5a1 & AT 6 km
=Adr g1 9 30 Tew e & afeem 22

Ans ¥A<m
7B ofgas
Xc 3eR 9=

X o ZfEor o

Question ID : 630680176434
Status : Answered
Chosen Option : A

Q.16 faw =iv et & ¥ 3@ P F 997 FL A FEASET FFA F TeAT=F e (?) F AAEIA

T FHET &
5 ?
Ans

XA -
5
oD

« B. oD
5
[+]]

X C. Q0
55

X D. Q0
5

Question ID : 630680173432
Status : Answered
Chosen Option: B




Q17 ar yaw-wAg oA T o &, B ¥ 99 W TR ¥ wwane § d# oF awee §1 5 e
FE-HAF IIH FT AT F

Ans A ALMOST - STMOAL
« 8 DEPUTY - TYUPDE
A ¢ COLUMN - MNULCO
« 0. BRIDGE - GEDIBR

Question ID : 630680173427
Status : Answered
Chosen Option : A

Q.18 Emﬁ:@m%,ﬁmﬁt;ﬁaﬁmﬁm#m%mmm%lwmmmm

Ans X A i%
VB T
X C gaeia
X 0. AR

Question ID : 630680176454
Status : Answered
Chosen Option: D

Q.19 mﬁmﬁ#mmwmmmmmﬁmﬂﬁ?ﬂmﬂmw
Hehar
2, 3, 6,15, 42, ?

Ans XA 122
v B 123
xc 120
XD 121

Question ID : 630680176473
Status : Answered
Chosen Option: B

Q.20 3y vrez 'DISREPUTABLY' & 3T &7 37 aUiTen & HeN qeedareud fhar smar &, &t
qeedardT % W1g fhae st #r Ry smfefde we i

Ans X A E—'i'IF-I'
X8 U

XC.Eﬂ'

« D Ueh

Question ID : 630680173396
Status : Answered
Chosen Option: D




Q.21 R fist & o 9fFa &, Aftg a0 ¥ 373 = w7 § 3 Aga @© ¥ 278 o K § 9® F s
T H9" H 98 o £, a Aifg 910 ¥ 269 TE W @ ST &1 & 9fg § o faeamdft £

Ans XA B3
< B 53
x<c 62
D B2

Question ID : 630680173373
Status : Answered
Chosen Option: D

Question ID : 630680176401
Status : Answered
Chosen Option: B

Q.23 g;?a:rm?'#%,'#a«'rmi'x‘%‘, '« A Y AR W ol e O BT e # A
47x39+15-5+ 3 =7
Ans XA B1.4
X B 62.4
xc 604
« 0. 59.4

Question ID : 630680176481
Status : Answered
Chosen Option: D




v e Fael [T 1 HFEOT T gl
X c. e w2 FFET FT g
xo s 1 3R 2 g e =

Question ID : 630680176404
Status : Answered
Chosen Option : A

Q.25 g T & 1 AR AT g9 TE AT A & T 85 §1 B, E % 8% o s # e §) F 3k
DFET A Fa AT 2 DN BF AT A Fsa C dar ¥ E F &% v w57 & =i ¥ 22

Ans A D
« B F
Xc C
X0 A

Question ID : 630680173367
Status : Answered
Chosen Option: B

Section : Quantitative Aptitude

Q1 wwdarF 22 BARN0F T 3:5: 7 & 3wd § &, T oo a7y 1212 #1 210 &
et $r T e 27

Ans XA B0
X B 36
v C 84
X0 90

Question ID : 630680173186
Status : Answered
Chosen Option: C




Q.2 sor 3t et Tw W W wAA 26 G it 39 RE F @ o weg #1 AR 3 o wy Sewr w9
= E, @ 9w e RE & g e 2

Ans

x A 142
3
X B. 13}
5
s c 152
3

xn 122
5

Question ID : 630680173210
Status : Answered
Chosen Option: C

Q.3

FT AT AT FLI
63+ [310+ ,183+\?169

As s nQ
X5 6
xc g
X0. 7

Question ID : 630680173150
Status : Answered
Chosen Option : A

Q4 AxkB=A g:za;agmaﬁﬁgﬁmﬁﬁarmwmaﬁnwgn@ﬁa;m,Amdgﬁﬁ

AT & § AN B HTA Gl H 337 % FH A G | UH A9 & I A 1174 W FH A A T A
& T (7 A F) e 22

Ans X A 96
2B 16
«+C 126
XD 15

Question ID : 630680173188
Status : Answered
Chosen Option: C




Q.5 IoEr A & TEE U SewH & oEs @ 100 m MU § e A gERT e R F o =)o@
TS B Fr U 4 H A9 (A AT AT §, F9 EFMEr B #r = 70 km/h ¥ 3T wemEr A #r
=er 90 km/h & &7 TETEr A 3T B T 97 WIEEH UN S0 # A 24 ¥eE 3T 36 s # wET
T §7?

e KA 16 BFE
V5 18 HHE
X c 15 FFs
X0 14 FFHE

Question ID : 630680173204
Status : Answered
Chosen Option: B

Yo r—y=9 W ay=7% TPy -8(+y)?=?
Ans L, n 4B

X8 51

Xc 48

XD 41

Question ID : 630680173224
Status : Not Answered
Chosen Option : --

Q.7 v =af@F & 3T T F vt o 30 km/h B T T a7 B, WO T F T TE-AES
T 36 km/h #r =T & 9 fRm A AW wmr y kmvh Fr e & T oAl o o F sed st

W& 375, 8 Aly F A A
Ans X A 38

X5 42

v C 45

XD 40

Question ID : 630680173201
Status : Not Answered
Chosen Option : --




Q.8 wF ameer 75 km/h T =TT & 300 km #Fr g, 45 kmvh Fr e & T 90 km Fr gl 3T« kmih

Fr =er & 3Ter 390 km Fr ghr 7T e E1 A A F 5w oftwT T 432 kmvh ;oo
H F2T £2

Ans 325
< B 40
xXC 36
<D 355

Question ID : 630680173161
Status : Marked For Review
Chosen Option: C

Q.9  wf@er =¥ 215,50,000 ¥ v% wiw @lerl 3w sHhr 9T R mEma W 250,000 W vl ofy 3O
=& 215,12,000 & &=m, & @ gl gfaera #ar &7

Ans - X A 6.5%

< B 85%
«+ C 5.5%
XD 7.5%
Question ID : 630680173176
Status : Answered
Chosen Option: C
—_—

Q.10 5 9 o1F & HewqF F1 AT 3HF g BT 7T T & 3547 &

7 af (2016 & 2022) # se@mt AR B 1 fafr (2 ws )

w3CATA W 35T B 400

2016 2017 2018 2019 2020 2021 2022
T

T§ 2019, 2021 3R 2022 & z=eT B & sitma f6h, 32T A #r sitaa & =1 Gaer aeE 2

Ans XA 75.13%
X B. 72.23%
« C 73.13%
X D. 70.23%

Question ID : 630680173221
Status : Answered
Chosen Option: C




Q11 v =y el 509 & ST mw W 12% F1 g2 3 F a5 3% 162 F d=ar §) ofy 3 g Al
& @i, & 9§ 20% W o7 ATSd SaTl T8 F BT Hed (T H) FT 82

Ans X A 432
X 5. 433.50
v C 437.50
X 0. 438.50

Question ID : 630680173180
Status : Answered
Chosen Option: C

Q12 3o/ &1 3 fsrm & 3T & 38% 0w ¥ 3 st 79a 3 0 2 % wgea F §) AR 39H @ v=w
26,000 T &Y &, & w=ra AR Rerw Fr 3w F e A= e

Ans XA 59,000

B 59,200
x< ¢ 59,300
« 0. 59,500
Question ID : 630680173173
Status : Not Answered
Chosen Option : --

Q.13 &g (5,2) & gex St aTehr weh TReEcerie Y@ Et #F A 3 B T e #1 SR A04AB (ST O
T §) % Feges H HgTT AT

Ans XA 2x—5y—3xy =0
XBx+y—2xy=10
Xc 2x—5y4+3xy=0
&0 2x+5y—3xy=0

Question ID : 630680173246
Status : Not Answered
Chosen Option : --

Q.14 #= &ifsT p e o e § B 12, 18 3R 31 & Renfem == W vds fa & dwme 4 aman
%, 3t p, 28 & e ¥ 3fE p #r 13 & Renfaa G oo, & dvwe fger a=em?

Ans XA 3
X8 1
xc 0
D 2

Question ID : 630680173156
Status : Not Answered
Chosen Option : --




Q.15 iy el AT F7 24% F=raT &1 O W 3 F 8% Hr Ify B & A Tma F 25% & w aw
ar 3wk = # fraw dfoee 1 3fy gefe

Ans X A 20%
X B 15%
« C 25%
2D 30%

Question ID : 630680173169
Status : Not Answered
Chosen Option : --

Q.16 0.031x0.031%0.031+0.01x0.01%0.01 ¢
T AT AT L)

0.031x0.031-0.031x0.01+0.01x0.01
Ans A 0.041

x5 0.401

xc 0.014

< 0. 0.0041

Question ID : 630680173154
Status : Not Answered
Chosen Option : --
—_—

Q.17 =fy ¥ ==f33 20 km/h & =& T FT F 80 km Hr T FLaT & 3T 750 km Fr =T F 375 km/h #Hr
T FER e ¥ I FAr ¢ AR O Aeenfie § 48 kmh Y I & 39 A9 TF TG §
T 3T T I & B sdwa o 120 kmvh &, A7 3% @ A9 & oS g0 zl

" % 752km/h
¥ B. ?3§km/h
xc. ?5§kmxh

X . ?3§km/h

Question ID : 630680173166
Status : Not Answered
Chosen Option : --




Ans X A 571%‘;'_
x5 59 faa
xc 53 e
D 55 T

Q.18 A 3t B 3T F1A X gU B F F FAn 46 R AR 69 Rm W wEA I TR A AT Uw
X - W TR & F Y, A F R RE @ gem?

Question ID : 630680173213
Status : Answered
Chosen Option: D

i
Ans 2 A B3 em

< B 60 cm
XC 41 cm
<D 48 cm

Q.19 ofy v fsger &7 ar oMY 28 cm, 45 om &, 3T FEE SF 630 cm? &, 7 AEE o= 1 wEE A

Question ID : 630680173238
Status : Not Answered
Chosen Option : --

forae 37
Ans XA 32100

v B 32,025
xc 22,150
XD %2275

Q.20 FremoT SATer WY 7.5% Wiy 99 FT <UTS T ¥ UF T 3 a€ F Fg 11,025 & AT §| HUNOT AT

Question ID : 630680173192
Status : Not Answered
Chosen Option : --

Ans . 320,000
X & 716,000
X c. 214,000
¥ 0. 215,000

Q21 g & 31y == TP A B A 5 9 F wgww A w2 11 a9 F fw oy B w=Aw A
ﬁmﬁ?mﬁaﬁﬁmﬁmﬁmﬁrzo%mﬁmmamﬂ?ﬁ% H#t wh= B & 36 @ ¥ =

e . AT 3 a1t ¥ § TFgfed aiar 1 AG 15 F9 F G A ThE § 9 Eol e
213,605 ¥, o 3 I TR A # forder € oE ey oo A

Question ID : 630680173198
Status : Not Answered
Chosen Option : --




Q.22 Fifeer & seaaA wY A 3EF 9 BY 71T woF e &

e auUEF | FEE | g | e
e gf | =mer e | T AT

faac | 480 - 6 -1l

@ |- - - 60

EE— - - -

R >

e | 230 10 5

|- 14 7

- —— - - 50

afeE F afE o Fr A w7 oA B A F e 2 8, & A ow F Rl 9w A
o v wAm #R 9R % gge I A AT I g6 % 99 @1 AW F ¢ (A & T T a6

i)’

At Xna 85 TE
V5 4 TE
Xc 75 we
X0 6 e

Question ID : 630680173218
Status : Not Answered
Chosen Option : --

Q.23 ofy A(—5-2), B(1,3) #T C(2,-2) Briw & ¥ & & AMBC & Svwa (97 3% H)
zl

Ans A 1B
X8 155
Xc 165
+D 175

Question ID : 630680173233
Status : Not Answered
Chosen Option : --

Q.24 AB 3 CD T&F Te7 #7 & WEH 75899 FAI¢ § 5 O W W IR Ta=oe #ar & 5 AO=4cm,

OB=3cm, OD=2cm ¥ gea & &6 AT Hiee|

Ans

XA 62% sq cm
X B. 533 sq cm
1
& C 51; sq cm

XD 58% sq cm

Question ID : 630680173243
Status : Not Answered
Chosen Option : --




Q.25 wx &, 97 A T Fr Hg F AT 70 I ¥ IR A H g 355 T H; g F T 0§ qw o
Fow o 5 AW T3 §| A H g e @2

v 45 T
X B 35 ¥
xc 39 I%
XD 42 9%

Question ID : 630680173229
Status : Not Answered
Chosen Option : --






